
Basic Electrical

Tutorial 1 (Basic Requirement) 
1) Find the total resistance between point A and B









2) The resistance of two conductors is 25 Ω, when connected in series, and 6 Ω, when connected in parallel. Determine the individual resistance of the two conductors. (Ans. 15Ω,10Ω)

3) A resistor of 8 Ω is connected in series with a combination of 12 Ω and 24 Ω in parallel. The whole circuit is connected across 100 V supply. Find :
a) The current taken from the supply; (6.25A)
b) The voltage across 8 Ω resistor and (50V)
c) Current flowing in 12 Ω and 24 Ω resistor.(4.17A, 2.08A)


4) In the circuit shown in fig.4, the total power dissipated is 488 W. determine the current flowing in each resistor and voltage between A and B.(2A,0.5A,4A and 75V)










5) Determine the value of R, if the power dissipated in 10 Ω resistor is 40 W for the circuit shown in fig.5.(34.29Ω)











6) The current in 6 Ω resistor of circuit as shown in fig.6 is 2 A. find the current in all other resistors and voltage V across the circuit.(46V)








7) Find the total resistance between point A and B, using star/delta transformation.fig.7









8) Find the total current supplied by the battery, using star/delta transformation.fig.8










******
10Ω





40Ω





20Ω





A





B





18Ω





3Ω





6Ω





3Ω





Fig.1 a) 5.714Ω





8Ω





A





B





Fig.1 b) 10.6Ω





Fig.4





B





A





10Ω











2.5Ω





20Ω





5Ω





Fig.5





V





50V





10Ω











R





40Ω





80Ω





Fig.5





4Ω











6Ω





6Ω





8Ω





8Ω





A





B





Fig.7 (468.5Ω)
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